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Time : 160 Minutes (Eagtish & Telugu Versions) Max. Marks : 160

BBy ; 150 Hdiivey Paper - II Sudfo Srdfpen : 150

INSTRUCTIONS (Z84dwes)

1.  Please check the Test Booklet and ensure that it contains all the qﬁuﬁma. If you find any defect
in the Test Booklet or Answer Sheet, please get it replaced immediately.
(% HStwd' ey [Hho Dydcdwass #F I . (B 83w’ md, Shrerd
HEdudt md g S od Fsted’ 3F4o B8RS,

2.  The Test Booklet contains 150 questions. Each question carries 1 mark.
) HBEed® 160 BHheuid. 2538 BHD 1 &rdy Stravododdd.

3.  The Question Paper is set in Engli[fh translated into Telugu language. The English version
will be considered as the authentic iotr for valuation purpose,

[EhSeiy sofihed’ solrddobnd Bwih 'S SHhidr TohwdHB, HNrerd S(ghe aveng
Jolusdyds aofhs BhSdis Sdrdtbom Sk bud.

4,  The Test Booklet is printed in four (4) Series, viz. [Al[B][C][D}. The Serics, [A] or [B] or [C] or
[O] is printed on the right-hand corner of the cover page of the Test Booklet. Mark your Test
Booklet Series [A]or [B]or [Clor [D]in Part C on side 1 of the Anawer Sheet by darkening the
appropriate circle with Blue/Black Ball point pen.

B Sits b SPisos® (Series) wire (4] D Sgiwed sudodndsd. &
sgtwei [A] m2 B md [C] 2 [D] i @4 S8dw cingy 556 bd £AZY Swod'
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Airord Sddy L¥bd 3y FE C dod sokfBdy Sirovedwndd Hydind il ad
Fonod Bhns' Sum HE DoddDi.
Example to fill vp the Booklat Seriss
I your Test Bookiat Seres s A, ploase fill a5 shown balow
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If you have not marked the Test Booklet Series at Part C of side I of the Answer
Sheet or marked in a way that it leads to discrepancy in determining the exact
Test Booklet Series, then, in all such cases, your Answer Sheef will be invalidated
without any further notice. No correspondence will be entertained in the matier.
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5. Each question is followed by 4 answer choices. Of these, you have Lo select one correct answer an:
mark it on the Answer Sheet by darkening the appropriate cirelo for the question. If more thar
wie circle is darkened, the answer will not be valned at all, The Blue/Bluck Ball point pen to maks
heavy black marks to fill the circle completely. Make po other siray marks. Use of whitenor i
prohibited. If used the answoer sheet is linble for invalidation,

B8 @A % Toud Sdreddow aigeddd. votkd” SBabh wow SNED Sdred Hddue
ERAE:S Foronodnls Sysenin Bt G elbo. o adamy ..'J.“n.'rzrﬁ CRL RIS ‘Nonds,
o Sarerddn S0RDodedd, dydtud ﬁ}‘Qﬂ‘ Rom &8 Jophh wier§ o8 Fowod iy
ISR, eRNY Lo Dot 386 > :J..tﬁ':aﬁa:i&am A Shrord Hddw
farargofd Jobudd.

¢g. - If the answer for Question Ne. 1 is Answer choice (2), it should be marked as follows :
S ;DR Ehdops 1 & warw (2) voudtdypd ol & |Bo8 e HBodEB

olelele

B. Mark Paper Code and Roll No. as given in the 1all Ticket with Blue/Black Ball point pen by
darkening appropriate circles in Part A of side 1 of the Answer Sheet. Incorrect/not encoding will
lead to invalidation of your Answer Sheet,

TS UE6E aigudd & Lo ) 58 Scudd Lbol b &S sond ddrod S| &
s ased 3PD E A S0 @i ord Sonod Ly s HOELS Sjdtwedt dom K
L oshE. u:&oa:-génm doar B 2% 808 JondSiouar Ry I 564003088,

Example ; If the Paper Code is 027, and Roll No. is 95840376 fill as shown below -
dorhdm @ D5 55 027 0ok B'S 3o. 95640376 wondT Bod rbd Dgdum Dodhw :

Paper Code Roll No.
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7. Plense got the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answor Sheet without the signature of the Invigilator is liable for invalidation.
PErerd GEhed’ doranodd Puted® 36RO (Invigilater) Glv), Sod¥ind Sosidb,
R0 BESEHD Bod iy Shrord Hifdws' FEdtendd’ wh H0%Dodudd.
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8.  The candidate should not do rough work or write any irrelovant matter in the Answer Sheet.
Doing so will lead to invalidation.
ogfpd ‘DEIY (Rough Work) & md &U3a oddidy) JDabibood md Sdrcd S|S0 D
(Frolorh, e |EE Shrerd Hidin S08odthoar dodernd o Bahidd o,
8. Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
Srgrddvols DSt hiodrd. 00 sd|ELolsE Sdom S0AdoSudd,
10,  Before leaving the examination hall, the candidate should I'.u;ml over the original OMR Answer

Sheet (top sheet) to the Invigilator and carry the boltom shest (duplicate) for hisher record, failing
which disciplinary action will be taken.

S0g L SO0 Igubhi, i) &5 SArond HShn wbRHED (phud) H|She) vd ady
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PP If COLLEGE is coded as AMJICEC, then |1,
the code for UNIVERSITY is
(1) VOJWFSTJUZ
(2) TMHUDQRHSX
(% SLOTCPQGRW
(4) WPEXGTUEVA
2. If TABLE is coded as WDEOH, then the |2,
code for BOARD (s
(1} CPBSE
{21 FRDUG
(3) ERFUH
4y ESDVG
3. If FAT iz indicated by 6 + 1 + 20, then the 3.
indicator for LEAN is
1] 12+5+14+ 14
(2) 11 +44+14+13
() 1I+6+2+14
(4} 12+4+1+13 14
4. Find the odd one out from the following, |
(1} Chess
(2}  Carrom
{3}  Table tennis
{4)  Hockey
8. In the following, which one is difforent
from the other three 7 .
(11 ACE
{2) BDE
3) CEG
t4) DFH
6. In the following, which one is different 8.
from the other three ?
(11 AOIU
(2) AUEI
(3) EUOI
(4)  AUYO
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COLLEGE &), & AMJJICEG sonds,
UNIVERSITY ciuf; &8

(1} VOJWFSTJUZ

2] TMHUDQRHSX

(31 SLGTCPQGRW,

(4) WPKXGTUKVA

TABLE o) &8 WDEOH weondd,
BOARD civéy &6
(1) CPBSE

(2) ERDUG ¢

(3) ERFUH

(4} ESDVG

FAT &8 + 1 + 20 & ArSoDdd, LEAND
&d oo A Doy

(1) 12+5+1+14

(2} 1M+4+1+13

(3} 10 +6+ 2+ 14

(4) 12+44+1+13

1 |BoB SRS 28 Dogmads oml
S frhedoy

(1} iﬂ:&}:'

12)  svpihon

(8) Hwd BnD

(4] e

G 208 RS 0B Dofnlas ol
£5fihe 7

L

(1} ACE
(2] BDE,
(31 CEG
(1) DFH

G (208 S D0 DofeRss ool
EofTivie 7

1y AOQIU

(2]  AUEI

(3 EUOI

(4) AUYD—
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10.

11,

if 2:} 5, x. 17, 26 follow o certain rule,
then x =

(L 9

2y 10

3 1

(4} 12

Find the next number 1o the senes

38, 12, 48, 192, ...
(1) 412
(2) o814
(3) 768
(4) 1110

If 14+%=26 2+3=13, 3+4=125
in a language, then 4+ 6 = .

(1 31

@ 417

(3 &1

(4) 59

If 5+« 7 =40, 46 =28 6+3 =24
in a language, then 9 » 4 =

(1) 35

(2y 40

(3) 446

(4) &0

If a=b=a®—gb+b® and
ab
a;h- ?. then (14 2)+« (340 4) =

(1} 30
2y 31
(3 40
(4) 41

161}

7.

10.

11.
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2, 5 x 17, 26 ®3D &¥ Dobbrly
IS0, x =

(9

@ 10

@ n

(41 12

& Ao’ sovugd Popgd STl
3, 12, 48, 192, ....

(1) 412

(2) 614

(3) 768

@ 1110

e erds 14225 2+3=13, 3+4=25
gondt 44+ 6=

1 381
@ 41
(3 51
(4) 59

LSS 5 T=40, 4+6=28 6+3 =24
wou Gedm

(1) 35
(2) 40
(3) 45
(4] 5O

aeb=a’-ab+b? Sbay

uab.iz'!. oSS (142 4(344) =

(1) 30
(2) 31
3 40
(4) 41
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13.

14.

A sits facing towards East. If A turns 270°
towards right and them 180° towards lefl,
then the direction A faces now is

(1} East
(2) West
{3) North

(4) South

Find the value of x in the diagram given
below :

8. 2
8 az 4
B4 x
7 10, 3.
1 B,
(1) 2?
{(2) 25
3y 30
4] 35

The next term in the series
ABZY, CDXW, EFVLU, ...
i=

(1) GHTS

(2) GHST
(31 HGTS

(41 FGTS

(6)

13.

14.
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(4]
12. A wiad drdy Imgom Emdpymd. A
S)GEQ}HB 270° QOA iﬂ‘sl 180°
 MHIHD 80nSY, adyd A H MHm
iy Bty
(1) drdy
(@) SadE
(3 agssn
(4 &hedun

& [3ob Sedud'D x Jeudin ST

8 2
B 32 4
B4 X
7 10 3
1 b
(1 24
(2) 25
(3 30
(4) 35

& fide'd Sogs ok
ABZY, CDXW, EFVU, ...

GHTS
GHST

(1}
(2)
(3) HGTS

(4) FGTS
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16. The odd figure out of the following is 15, & (308 DS DS Sbdw
"o

(3) (3)
il k [ o @ k
18. The odd one out of the following is 18. © & (2c8 DS DI

m | 1] B I |
(@ T l T | | @ 'I'l T
o U] o {111

w [TUIT e [T

17. The next number in the series 17. & (%) sopd dddw
. 1,13,.'5“1':.515;;... 1,3, 6,10, 15, ...
" (1 19
il @ 2
(2) 21 _—
(8) 23
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18.

18.

21.

Find “* in the following :

o] 1@
(AT
2 WL
w. €

W 3

If C is the mother of A, D is the husband
of C, E is the wife of F, F iz the brother
of C, then F in the of A

(1) paternal uncle
{2) maternal uncle
(3} brother

(4) =isier

A wall clock shows the time 9.00. If it is
placed on the ground such that its
minute-hund is towards south then the
diroction of its hour-hand is

(1) East

(2} West

(3) South

{4) North

What duy is 26" if 3" of the month is
Wednesduy 7

{1} Sunday
(@) Tuesday
(3) Thursday

i4) Friday

(8)
|18,

18.

20.

21.
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[al

& |Bod &' 7 Hfode

(1o |21

>

{1}

(2)

(3)

\U:’T"\E

(4)

A Gy 8D C, C gy §¢ D, F oG
wdg B, C o) I8 F eond, A

gy F obd.

(1) Dy B8 bEaRy

(2 hbdrd

(3) HEddk

(4) €D

e A8 KAcdrdin  stolude 800

ArDoHB. AON Do Sww &8 rodaiy
srpod Do il b LT, Hobe
dwen Ardots 85

(1) &rdoy
(21 dddd
(3) e
(4) SddEw

pf 305D 35 A8y wmdadDOT 26
asdn 7

(1) ebadan

(2) swordardin

(3)  rodarddw

{-I-jg/‘f@a-d:m
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22,

If 1* February of a non-leap year falls on
Thursday, then what day will be the 1™ of
April of the same year 7

(1}  Sunday

(2 Monday

{3) Tuesday

{4) Saturday

Ifa « b stands for {a® + b)* + 1, then
1+(1+2)a«

1 12

{2y 122

(3 2121

4y 1212

If we denote (ab - 1) + b by a A b, then |

1A2)A(l A2 =

1y 32

2) 64

(3) 87

4y 70

A is four times as old as B, After 4 years,
the age of A will be three times as old as
B. The present age of B (in years) is

1y 6

{21 8

(3 10

4) 12

If x* = 0-125, then x° =

(1) 03125
(2  G03126

4y 0003125
(4)  0-0003125

19)

pPrepp

Your Personal Exams Guide

(a]
Dpzd SoddyUiwdd  Hpdd 1
Al SRS, od SoddyEins' DS 1
o Oddd ?

(1) wdodiw

(2) Foaddn
(3) Sofdardin
(4) dlardiw

avb edd (@ ¢ bP 4+ 1 wondd,
1(122)=

(m 12

(2) 122

(3) 21

4) 1212

(ab -1 + b D aab I ardodss
(1a2)A(1A2)=

1y 32

(2) - 64

(3) 67

4y 70

B Y08 A oot 3 DEerds. 4 Doddyoro
dornd, B 08 A furdh Ot oode, [Bipd
B Glwg) Halin (HodsSilved)

(1) &

2) B

3y 1

(4) 12

x? = 0125 sonds, =

(1} 03125
(2» 003125

(3 0003126
(4) 0-0003125
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27.

C is taller than A and D, and shorter
than B ond E, A is taller than D E is
the tallest person. Who is in the Ak
position heightwise ?

(1 A

(2) B
1 C
4y D

Five persons A, B, C, D and E sit on a

bench such that A and C are together but

C s lelt to A, E sits first, D is n,g‘hl:ofB
but left to C, and B is the last one. Who
is the middle one on that bench 7

A
2) B
h C
t4) D

Find the next lerm in the series
50. 43 |

2
(1) 16=
3

1
(2] mii

(31 18
(4) 15
Find the odd one out from the following :

(1)
2]
3
(4

Yellow
Black
Blue
Red

110}

27-

28.
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(a]

C el ood A boly D o 508 ﬂ'ﬁ_ﬂ_ﬁﬁﬂ‘dj
D0cky B oo E © 508 gad. A ol
ad D HoB bﬁﬂiﬁﬂ‘ﬂb wosShd E
w0l DUJdarde. DaHEt 4 Pty
508 7

(n A
(2) B
(3) C
4 D

=8 wube odibi m A B C D
Swbols B ev Srdyyamyds. 206" A &botn C©
@ LESHE 3D A & C JE&EY, E andt

.D e3> E & 5)&3@ sw C
g J’Sﬁ:ﬂ@. Hbafs B sdod 050 ot

o BORD E-:{:gﬁ" SR eyt 7
1)
(2}
(3}
{4}

o ®m =

=

) (‘MD dorgd D 28 7

15, 20, ...
3 =% 20,

2
n 165

|
{2} 16 3
{3y 16
(4) 14

i-u'l_.;.ab TSt HHaddn ¢
(1) Seodydesy

(2} Heudy

e

sty

(3)
(4)
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31.

32.

33.

34.

35.

If a*b=a+ab+b—-1, then 2 * 3 =

® e FTETET]

(2) 8
3 1
4 12

In a group of ants and spiders, there are
20 heads and 136 legs.

are there 7

(1) 8

(2 10
3y 12
4y 14

How many ants

5 years ago, my sister’s age was § times
my age. Now it is 3 times only. What is
my sister’s pfesent age (in years) ?

(1) 30

(2) 25

(3) 20

(4) 15

In a leap year, January 26t is Saturday.
What day will be August 15" in the same

year ?

(1) Sunday
{(2) Monday
(3) Thursday
(4) Friday

In the year 2006, the Independence day is
Saturday. What day will be the Republic
day in the same year ?

(1) Monday

(2} Tuesday

(3) Thursday

(4) Saturda;/;

(11)

31.

32.

33.

34.

356.
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a=kb=a‘+ab+b—1®oo.>:3155, 2% 3 =
(1) 6
(2) 8
(3y 10
4y 12

Do oo OB Dhardrins®, 20, o
Dok 136 seehyy aomon. Dden
gamon ?

(1) 8

2y 10

3y 12

(4) 14

5 Doddyore Hrogaw, T U0 Had)
%08 5 B adypd md 3 By dr(Ed.
o U0 (DS Doy (éo‘ééadé»@é*)
od ?

(1) 30
(2) 25
3) 20
(4} 15

28 Of DoddyBhnd®, 2dd 26 A Shw.
) éoéé{ad&»é‘ o 15 o &Edw ?

(1) oo

(2) Foaddw
(3) HdarSdw
(4) H[Eadiw

2006 boééadé»esi, FrgSodag B dy%dw
orddy. ol ‘éoéébdémb" Headbo|es
BSEN » T8HD ?

(1) DfosrPaw
(2) HodFIin
(3) Hhardiw
(4) RS
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38.

37.

‘nl

In a wall clock, what is the angle betwesn the
minute-hand and hour-hand at 5 o'clock 7

(1} 90°

{2} 120

{3) 160°

(4) 185°

In a mirror, the image of a wall clock
shows the time a8 9 hours 50 minutes.
What is the actual time shown in the
clock ?

(1) 2 hours 10 minutes

(2) 3 hours 10 minutes

(3) 4 hours 156 minutes
{4} 4 hours 20 minutes

Which one of the following plane figures is |
nof convex 7

{4)

ta99)® - 2? -
(1) 888007
(2) 995997
{3) 996957
(4) 997997

It fixy = x¥ = 2x% 4 7, then M2) is

(1 &
2] 8
3 v
4y B

112)

Je.

a7.

38.

40,
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(4]
L¥ B4 RBclrdins®, 5 Aosodd ddre
b ody Hobe oy Sodp oy Jod ?
(1) 80°
{2) 1200
(3 150°
(4) 165°

sdawd®  wf A8 Alcirdidw Chwo¥y
BBDondn 9 fobe 5 Jobaduo
ArUoDT o A8cirSdn Ardod e
=ody Jod 7

(1) 2 do&e 10 pobdbueen

(2) 3 Hobe 10 Jipddwey
(3} 4 dots 16 DddHAuwen
4) 4 fdobe 20 Jbaduoen

@ 308 DS I Sedw Doyrsddw
=08 7

o /N
o O
o ¥

4)

(999)* — 2° «

998007

995897

996997

987957

fix) = x" - 2%+ 7 waud, 12) Dewds
(1
(2)
(3)
()

{1}
{2)
(d)
(4)

=2 o oh
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41.

45.

If (a+ 2° =(a—-2° 240, then a =

(1}
(2"
()
(4}

o =} Ch

In A ABC, £ B =90 and £ A = 45° If
the length of its hypotenusc is 8 units,
then the length of any other side (in

units) is
(1} 42
(2} 342
(3} 22
4y 1

If Aaiju b e 4 ef,
and C » (a, d, ¢, g hl,

then (A N C) U B =

{n
{2)
{3)
4]

B =ia c [ g

ia, b, c, d, ¢, gl
im, b, c, e, [ gl

la, b, d, e [ g
ia,c, d, e f gl

Five persons A,, A,, Ay, A, and A, stand on
a line such that the distance between A,
and A, is b meters; Ag and ""3 i= 10 meters:
Ag and A, is 156 meters; and A, and Ag is
20 meters. Then the distance botween "“2
and A, (in T_n!:m} is

{1} 45

(2} 36

(3 20

(4) 15

JO49%036%025 =
(1 07
2 01
(31 019
(4 DA

(13

41.

42,

45.
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(a+2° - (a-2%= 1w oondd, a-

(1 3

2) &

@ 7
(4) 9

A ABC & 2 B = 90" Hlofn 72 A = 45, &Ad
ggdn 28D (dY) 8 oirdw eowdd,
D34 wdd ghadn DAD (D) {nﬁraw‘)

(442
2y 33
3 o/2
4) 1

Awle b c,defl, B=iac f g
H:Bako C = ia, d, e, g, hl wausd,
(ANCUBS=

(1} o, b, ¢ d, e gl
(2} la, b, ¢ e T gl
(3 [a, b d el g
(4) |m ¢ d, oI gl

Ay, Ay A, Sboly A, ud pdibd

ﬁgitua!éﬁﬁﬁ'h Ddotn A, o By
SuboXe o &gy 10 B Ay

MQI»A o g 15.‘» Mboky A, RwBody
o a::;; 20 & drddu aaaumm

NENN damb. ud A, aubols Ay, ©

Mg drtidn (ogd’)

(1) 45

(2) 86

(3 20

4) 16

J049x0.36x025 =
(1 o7
(2) 011
(3) 018
(4) 021
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48,

47.

48.

The sum of -four consecutive natural
numbers is 66. Find the smallest number
among them.

(14

(2) 15

(3) 18

4y 17

15 is 60% of what number ?

(1}
(2}
(3}
(4}

HEhRE

The breadth of a rectangle 18 three-fourths
of ita length. If the perimeter is 38 meters,
find the breadth of the rectangle (in
metors),

(1) 28
(2) 26
@) 24

) 21

If F:R— MR iz a function defined by
fix) = x* — x* - 2x* + 3x - 1. then the
valpe of A-1) is

(1) 4

(2) -4

(3 -3

(4) 3

The perimeter
16 wunits. Its length is 5 units. Find its
area (in squarc units),

1 12

(2) 14

{3) 15

(4) 25

of m rectangular field is

(14

44,

47.

48.

48,
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(4]

aeorh S0S5m ﬂk‘al:’:-::'a Ropge dedin 66,
DS D Sopgie SRuRRie

(n 14

(2L 15

) 16

) 17

15 2 :’:roqasﬁi 60% ey ¥

(1 20
(2) 26
3) 30
4) 35
L BFSTREn OoE 3oy ods
PEHS  hos Brdh  Hoden. A2
htnBod 98 edid,  Agudediwe
S 3dery (egeh) "

1y 28

(2} 26

(3 24

4 21

f:R— R el tﬁﬁ:uﬁ ﬂﬁsﬁm

ix) = x* — x' - 2x¥ + 3x - 1 woudT,
fi=1) oeud

1y 4

(2 -

(3) -3

4 3

vf &8 Sdrsd fidie LpFod 16
QJ'.‘I.T"‘DQJ- AD ardsy b uﬁ.ﬁﬁbga. AD
Shoduds (IS ofrdes’) BuRss
(L 12

(2) 14

4 16

(4 25
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EEF

The average moarks of six subjects is 78, out
of which the total of 3 langusge subjects is
210, Then the average of the other 3 subjects
I8

(1) 78

(2) 80

(3} B84

4) 86

The wlorm is set between 1 a.m. and 1 p.m.
But | woke up one hour late. Al what time
did I wake up ?

1) 8 am.

(2) 7om. |

(3) 6 am.
(4 5 am.

If A=1a, b, e dl, B = |b, d, e i and
€ = Ic, d, f, g, hl, then the number of
elementa in A U B U C is

(8
{2y 7
{3y &
4 4

Mahesh i 15 years 6 months old, while
Rajesh is 14 years old. What is the ratio
of their ages 7

(1 27:28

{2y 27 : Bh

(3) 31:28

4) 3141

What is the speed (in km/hour) of a car if

it covers 200 km in 2% hours ?

(1. A0
2y 85
(3) 60
(41 &b

(15 )

51,
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ud Rokredt) drdpo Sowdb 78, dust
3 gy Jdofre Sediw 200, sdpd
D% 3 Jhodro oo

(1y 98

(2) 8

(3) B4

(4) B6

1 am &0oiy 1 pm Mﬂﬁ‘ e G dks
Prd. D I ¥ do wedgun
Somd. 3% 05 Sodn Jod 7

(1) 8 am.

(21 Tam.

(3) 6 am.

(4} & am.

A=ia b d.B=bd e } SO0
C=lc.d g hl soudF, AUB U C
froso Sogy '

(i) "B
2y 7
(@ &
(4) 4

Sirl wdod 15 PoBEYore G Ao Doy
Aoared Lbcty oedh 14 Boddyore Sokiy
Heaeds Da Sabne 38 Jod ?

(1) 27:2%
(2) 27 .26
(3 3T:28
4y 31: 41

¥ 3t 200 8.0 drdiud 2- dosost

[Sodrelotd, o ﬂuff_  drdw
(2.20./f0.08% Jod ?

(1) _s&
@ 65

(3) &0
(4} 55
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58,

The ratio of twe numbers is 3 : 4. If the
greater number is 48, what is tho other
number ?

(1} 24
(21 36
13} 40
(4] 44

The cost of 18 liters of il is T BG4, How
many liters of oil can be brought for T 1200 ?

1y 14
(2) 15
3 20
(4) 25

A train travels at a speed of 60 kmv/hour. How
long will it take to travel 2000 mcters ?

(1) 1 mioute

{Z} 1% minutes

{3] 2 minutes

() 2% minutes

If & certmin number is doubled and 4 is
pdded to the result, the sum is 44, Find
the number.

(1) 10

2y 16

(3) 20

(4) 25

If two consecutive even numbers are such

that 7 times the first exceeds five times |

the second by 54, then find the amallest

one.

1y 32
(2) 34
(3 38
(4) 40

(16)

56.

67.
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Bodk Jopgo wanE 3 4, VG Jogg 48
oSS, ADS Sowg Jod ?

(L 24

(2) 36

(49) 40

(4 44

18 &, &2 &6 T BA4. T 1200 o o
bog Lrd Fadaipd ?

(1 14

{2) 16

{3) 20

4 2

&% Bew 60 2.20./Mo, Srted Darrdodii,
2000 Do Pabrdobed 68 Jod
roded SN 7

(1 S

(2 1-;- Diodaen

(3} 2 SddEhes

) 2% -

nE Domghy Tododm b aowh fodm
SDYS Inddn M, ¥ dowgd Shdd
(I 10

2y 15
(3] 20
(4) 25

Jods SBHdm do 56 ::ampsbﬁ‘. wtdorn
T 3 (Sodo) Toddad b g (Fode)
ol ! oS $0 dowg Wa ?
(1 32

2y 34

(3} 38

4y 40
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Directions : Read the following passages and |.'J§-l'da.uu P BAD aSteds vabd'ﬁunﬁ.l Sod.
answer the questions given below them, selecting |ar .ﬁa.‘:ba"x::' (fod adipdd Jfojdve dod
the correct onswer from among the alternatives |(SHof JO0gUS aarmrh W o dompd
given. Mark your answer as (1), {2), (3) or (4} in |(3), (@), (3) o (40) D Jdrged Hddvdod
FOHUF Answer sheet. @Gﬁﬂﬂ.

PASSAGE (. 81 - 70)

Antz talk - not with words but with tastes
and smells ! Their vocabulary 15 made up of &
mixture of substances they produce in various
parts of their bodies and emit via their glands.
The substances, known as ‘pheromones’, are
gignals that other ants can amell and taste.
The measages they communicate set ofl a
specific kind of behaviour : fotching fond for
instance or looking aller the food or foeding
the queen. Ants use a hundred different
scents to communicate a hundred different
messages, With such s sophisticated array of
meagenger  fragrances, ants  organize
cnmplicated tasks with close-to-porfact
efficiency.

When vou see a handful of ants seurrying
around in the kitchen without any apparent
purpase, it doesn't mean they've lost their
hearinge. They're seouts foraging for food.
Once they've found something edible, they
roport back to base, depositing their chemical
spores on the way. “Food located, please
collect,” is the taste and smel! measage for the
other members back at the nest. Soon, Jong
chains of worker-ants begin scurrying back
and forth from their nest ferrying food which
they hand over to ants who specialize in
housekeeping. The duties of these gnts
include keeping the nest in good order and
cleaming and feeding the queen.

Sod i (S 61 - 70)

Ddoes Borod ovbh ol nbes Hbok
TASod’ Sripdah ! o H0P0SD D5
prrod’ ol ady8 dab dorgre Dol
T8 derodn Hbak 08D 8 (Hode
ot DoldE  HoPphs. . ;.&::s*g'-z::n
W AR’ ol wodd LBk ol Ao
Do a5 Lok el doucdodd
Hoderoddind. wd Sy Shrooo
uSd  Ifodest mo  dE wdeg
Soyodtmd B8 ol edfde woloddod”
R i PdpE SR ddAd
EONoodids. D  wf  Sod DD
aradtod Hod G Sdrodhueid
Bhotdald. SNd eSS Srose
FriEmoi gro >ddpiomr ddgdrodis,

Sosnss By D o =¥me Hboo
SR dI b R Slbover, a8 s mo
BLLEErdd. od uird edghnd® s
Krgorden 83wk Shlfbhybypd,
o8 Pdods Bocldobodt |EES' £
Srooe DHob Nowd Cuitdo
Zo8sn, Sofdh HElodfy” od D
Btol ol Sirocoan ?Moﬁ‘a Dfter
bbo® vosTokd, Fobd Db b4
Sanme By dwodhd IIED  SHHD
witedy FOoRE ShiSdy rdded
urEsd Jogdh Ddol coddobni. 6
Reelh Ddvew wiforly Degdolndy S0k
ored D Dy Jobdos® ooy uifto
solovdod’ Bd kb Der K [ﬁrg.‘ﬂ'}
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B1. What is the passsge sbout 7 8l. & i’}bﬂ‘)d&} D Hbod agadss ?

(1} Behaviour of ants (1) Do Sdgs

{2)  Anls intelligance : (2} dfve BODHLy

(3) Ants communicetion 3 Hfoes Adeoe Lol-

(4)  Ants talk *

4} Difve dopras

62,  What is the vocabulary of ants made up ol ? lga.  Bioe BEapeds O Mo Jobessa 7
(1) A mixture of substances they produce in - '
various parts of their bodies b ;‘ﬂl sé:;ia&?:ﬁ Vv o438

(2) Ants learn to talk | ‘ |
(3) With work @) Ofen Srerdddy 8Tl

{4) Eating food i3) S8
(4) wdSiy B4

83, A mixture of substances ants produce in ) .
various parts of their bodies is known as |83 ¢ #bdosD 228 prrrw ad)E dbd
Sorgre iRuis Hib
(1)  resources

(2) pheromones (1) Harerey
(3) fragrances (2) 8 riey
{‘J ﬁmciﬂnﬁiﬂﬁ (3) ;3)53‘: é

_ (4) -'3*;'::2'5::.1

684. How do ants receive signals from othera 7

84, e & : .
(1) Smell and taste ) 28%o wod  Hofeud

rodnd 7
{2} Talk (1) avidd bdoly dip
{3) Understand @ drerddo
(4) Discussion 13 wdo JEsdo
(4) 38y

85. Which one of Lhe following is correct 7

Y Ao _ 85. . &1 Bod et 2o Hana 7
ts itke & single scent Lo communicate 7
a hundred different messages. (1 Ofven | ¥ oBdh Sos Ll

) Ants da rigt _— icate Srordivod ot oS
nts do not use seen communicate | ,
a hundred different messages, (2) Lo Hod DG Sdroeddued
: i
(3) Ants use & hundred different acents to KPLE FOn TaEY

communicate a  hundred different (3) Wivew Bod 208 ardied SHoi ;35
messages. RArTdiood Sodvd owd

(4} Ants use mouth lo ecommunicate a 4) Dy  Hod JE SdErordiuoed
hundred different messages. Boped SAd addirAodsh
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6.

Which one of the following is not included
in the messages ants communicate that set
off & specific kind of behaviour ?

(1) Fetching food

(2) Looking after the food

(3) Cooking food

(4} Feeding the queen

What is the benefit that ants get from using
messenger fragrances 7

(1) Nothing is useful

(2) Ants organize complicated tasks with
cloge-to-perfect efficiency

Ants can work hard

Ants can sleep well

(3)
{4)

What is the purpose of a handful of ants
scurrying around in the kitchen 7

(1) Foraging for food
{2) To build their nest
(3) To clean the house
(4) To play

What is the taste and smell message for the

[19})

68,

a7.

other members when scouts have found [69.

something edible ?

{1} Strangers are coming, go away
{2} Food located, please collect

{3) Danger ahead
{4) - Clean the nest

Which one of the following is not included
in the duties of worker-ants ?

(1} Keeping the nest in good order
{2} Cleaning

{31
{4)

Feeding the queen
Searching for food

70.
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mRrorddvod  BOobEoly o SdpK
BHGHSNE  wodin (808 oS On
Jgyos B8 7

(1) a8 HEds”

@) eSS Sostoss

(3) wddiod Sothl

(4) oud Fhodhs

Sarod ool addrhodhd orgo
Widven Srod ordfdn O 7
(1) ABAPHREL b B

(2) S SHRN  Sbed  wdpod
ﬁ‘ﬁﬂ*&?-ﬁg b6 .a'-é:gsnﬁ'
Do

(3)  Ddoen EdA SHVabredy
(4) Who e YSodKed)
SoeHad’ By Dibes H0AK%LSH sdody
S 7
(1) witd widgie
(@) o Ardod SeuEEsi
(3) modd) Ao Joldin
(4) wd&dy
W3x 81 eddiad SRofindpd,
Ardortben (scouts), mdShod dod &0
So0cky i Shrordin O 7
1) |Fdarty Sbamts, ¢
(2) wghn H8850, Scbdn o
(8) Ao SArsdn ads
4) ekl D Sotkds
& (Bod D& 8 DR Koods
e 7
o doddin
) e Jobdoe .~
(3 o8 wiido woboddg—
(4) edtddul ediboddo
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PASSBAGE (Q. 71 - 80)

After the accident, a car from the hospital |

took Krigshna to hospital. The two men carried

him to & bed and put him in it carcfully. Soon |

a nurse and a doctor came, The nurse wrote
his name and address in a book. The doctor
took the bandage off Krichna's arm, looked at
it carefully and put his hands on it. He said,
*“The arm is broken” He said to the nurse,
“Give him some tea to drink.” Then he said to
Krishna, “Do not worry, we will do something
just now. You will be all.right soon !" Krishna
was a little cheered up and said, *Thank you,
doctor.” The nurse gave him tea to drink and
covered ﬂim with a warm cloth, The doctor
gave him an injection to lessen his pain. He
tied some banduges and applied plaster,
Krishna's arm pained him a lot and he
requested the doctor to look at it. The doctor
told the nursa to give another injection. After
this Krishna could sleep well While Krishna
was in the hospital, many of his (riends came
to se¢ him. Whenever his father and mother
came Lo visit ham, they brought some fruits,
milk and books. There were several other
persons suffering from diseases in Krishna's

room. He was all right within a week and |

went home after greeting his room-fellows.

SoT B (P4 T1 - BO)
[PErdde dorgd, uf wkd@ odh S
ebH| 88 BLBOHIN. agd &lddpm 832
Doddy gL Joud BRBY) wyigm
ShE B, Joed n¥ Ny Lbok el
gl STl o8 Hdded 8 D
Lbaly Dberdrd Sty (@R5a. 23 288
&%) wgoded arfd 5Ohcd, x|Xdm
S0%000, oA wEd Tden 1Y €28 &
Do eami. ‘W Jow  DOADtonDHE”
B8 S "esdE |oribet TAm & st
6 Dy by B8 ID g SELdn,
b edyd 0830 doudidn b S584°

Fofodd v Dy, £d JobLhnd &

Fom B ‘argt | ok GRgaEhu”,
sddd |ovdards 4 advh. dogs 3

SByED i, orEd 08l g Sibah oY

=2oBELD w3 w8 wrgoda K¢ 356
Indo. By Jdow wEd8 oo Ty Yol
wd Ty aMEN o drddw ol
il JLTIo. elpd il Sy
wdlf 2of'Y woBHL Sigld Ty
domgd Syl oum DASTIAR. £)3
wBBE" sy, sdd D oo
od wdil drdedd Do odd
Sodo|dey wRB|BE My SOy
Sod, Sro lok dsol ddyrd. (83
&%) dad Jgete Fmod’ g Dl
o orom wod samth. o Sfwro
&0 wdd rdonard: Lok 835 KBS
e Spoh Lerstofor dwnds zodl
SUNEAE
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71

T2,

T3.

74.

T4,

Why did Kriahna go te the hospital 7

To see the doctor
Because of the accident

Becanse he saw a car from the hoapital

(1)
(2]
(3]
(4) Because he wanted Lo see his parents in
the hospital

How many men carried Krishna to a bed ?
(1) 4
2 3
(B 2
4) 1

Who said “The nrm is broken™ ?

(1}  Krishna
(21 Duoctor
i3

4)

Nurse

Car driver

Then ‘he' said to Krishna, “Do not worry,
" Here ‘he' refers to

(1
(2)
(3)
(4)

Doctor
Nurse
Ward boy
Father

He suwid to the nurse, “Give him some tea
to drink." Here *him' refers to

Doctar
Nurso
Ward boy
Krishna

(1}
(2}
{31
4]

[21)
|71,

73.

74.

75.
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)3 Bl ok SOyads ?

(1} argim drdbah

(2)  |Sérddn Hod

3) w8 ol drddin dod

4) SuHSS' wd) S8Sodhod Wrdd
Lyl 5-4)

fodsn g Dosison

CEUD AL
(1) 4
2y 3
2
1

SRR

(3)
{4}

“How JOASE" Bl B Dyt 7

(1 5

(2) orge

(3 oy

4] s Bedd

siypd ‘edd HBE & o oTw

DD GIELES " B S
vod 55 7

(1 =£&

(2} adn

3 a8 wrob
(4] Sod

g uéﬁ.m_ & Ao vamd,
erfiand o8l Fone 4wyt adye
‘6308 wol Jhe8 7

(11 o5&

@) By

3 > b

(4)  Eyd.
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7.

78,

How many injections were taken by
Krishna to get a good sleep ?

(1

2y 2
(3r A
4) 1

Krishna was not alone in his room in the
hospital because with him

(1)
(2)
()
(4)

were his father and mother
were his friends
were the doctor and the nurse

were several other persone suffering
from digeaxes

Who brought fruits, milk and hooks 7

(1
(2)
3
4)

Krishna's father and mother
Krishna's brother

Krishna's sister

Friends

firishne came home from the hoapital

(1
(2}
()
(4)

many days after a week

within 3 days

within a work

after improving

Whem did Krishna greet before leaving the

hospital ?

(1) Other patients in his room

(2 Doctor and nurse
(3] Relatives
(40 Friempds

(22)

78,

8.
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Bodm ASTErDE 60 My soRfden
SowoHBamds 1
(h 1

@ 32
3 3
4y 4

S)n edEst 4y sadst ahd Hu
wothlim odns

(1) w8 ﬂgﬁutﬁama'l&:

(2) wdd Dfeso

(3 argdh bake By dam

4) 28 Srod wddbdy oo
o8 bySeuamd

dod, S fHdol PTG R

SOy 7

€5 ) d&doten,

SR S FEhb

505 g IR

i doen

(1
2]
3)
(4}

Xy ¥0d)8 wod mods SORSTd
(1 o8 din b oo Bero Sl
dords Bfaneet

L

(2l
(3)
(4) E‘ms‘#l dored

wRdE Hod Bﬁaﬁ'dﬁnn& RPN
herrofow 80LE: 7

(1} 82 5850 DA 5%9

(2} g Sbate Sy

wodapey

of
4) .:-\Lbdaw

()
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PASSAGE (Q. B1 - 90)

As rains receded, | got a strange job. Our
neighbour, a rich merchant decided to become
a politician. His major handicap was that he
was illiterate and he offered me the job of
pccompanying him on Lrips into the interior
villages to read and write for him st wages of
¥ 800 a month. [ made several trips with Lala
Munshiram, as he was called, to the outskirts
of the village, sleeping under trees, eating
stomach-full meals for once in my lifo.

In the village, | was astorished at the
ignorance and poverty of the childron [ met, [
looked learned and rich against their
ignorance and poverty. At night, scated on n
bench, | would write down the points dictated
to me by Lala Munshiram and thon read to
him so that they would bo fixed in his brain,
Many labourcrs would come to listen to his
speeches, which promised them prosperily,

Our trips were tliresome. Trovelling by bus,
bullock cart, rickshaw or on foot, we wont
from house to house and from wvillage to
village. 1 became a machine, recording namos
and addresses of his supporters, and the
listening secmed to be endless. My job scemed
to be monotonous — doing the same job, seeing
same people, houses and farms. To a huge
crowd, he would talk like a sermon, spilting
on the floor to mark off his paragraphs,
clapping occasionally and thumping his feet to
punctuate his sentences, all of which
captivated the simple villagers, who in roturn
shouted slogans promising him their support.

555;,55» (=4 = Bl - 80}

Scren EAS Sogd, o 8 Dodd a8
Car Dorbsgl, wf SSodd
orubobaolHd S HTNT HYowohDond.
wdISD Hoogg oS Hd ey ehi
RO Eo g, ﬁ%@u [rarof; odb
obrdodedpd oddd8 hm 3d)do,
odds |Trado Loy SELSIN Sohddin
odd & affghie. Joh T 600 28k, oo
R ranbod buded sdd 3L
| ﬁ‘ﬂﬂﬁ}g\‘.ﬂﬁ‘ (outskirts) \
Bolrerer Dhad, 3o 2ol JBoord
mbody @ dDsind® Jnde 0 ddon
Saploar odyde 8daran.

rdudies® R HORD boo Gy epriis
2wl oXy bﬁégi’mu:n S -u-‘i&ﬁsﬂ'uﬁ-ﬁa.
T ogrdin Dok Dadgimets L Ji
BODRoEn Do  Shbosad ol
sl oHE@ E woD LN, oo
Lo o 3D vorod @RER o
wdl DS rifin 00BTRes sl
SO0 WSodran. Todod Srdook
08 uﬁ)stsui-r (prosperity)  Srgrisauwei
ady odl rane RHand Sdyard,

Sr |Sofroroy Wt ooded Lrd5ne
oD Hdn nf wo8 Lol woFY aodk
Rwholy wf |mivdeod zofE (Ml
Wiy, Sdwed, 0y s IRSY ouo
ai.faz'-#ai‘mk wohd il b Sbok
Clhadres |TREE obodiomr souvards,
DeESNe o Gy DbodSdam Lrond.
od |dew, zod  Lbok ool
drddide o 2585 wond D GodBD.
s dddohdie, G PR PULb ST
LSNEY D000t odagdbdyard. Dot
(Fdy arfgiwoe Sworobin) vowdfons
domgd oo MbodhiH  gril oy
Foad, &85 0 S FHow,
Fpo Jovdepraroi Mlothed st
grdn Sdhads, addy FErd; Puod
udfods. oRi adwm Fh vddd
DE&HITEN drorw S,
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I returned home in March with a pocketful of
money that vanished into the bottomless pit of
needs of the household. My mother was proud,
even Aunt Sarala became friendly,
grandmother thought 1 performed a miracle
and my mischievous qualitiea had, by now
evaporated. But little did they know that Lala
Munshiram had lost the election, | had lost
my job and my status had reverted to the
earlier one of being & wayward boy.

What is the meaning of ‘recede’ 7

{1} Move forward

{2} Move back

(3) Receive

(4] Enter

Who decided to become a politician ?
(1} Beggar

(2} Doctor

(3) A rich merchant

(4] Teacher

What ia the handicap of the merchant ?
(11 Tliterate

(2] Educated

(3)  Iloess

(4) To do construction

What is the name of the ‘rich merchant’ 7
(1) Sarala

(2)  Author of the passage

(3) Vimal

(4) Lala Munshiram

Who use to attend the lectures of Lala
Munshiram 7

(1) Labourers

(2) Educated

(3) Women

(4) Children

AZ.

(24

81.

a3,

B4,

B5.
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86,

Who war astonished at the ignorance and
poverty of the children ?

(1) Sarala

(2} Author of the passage

(3) Vimal

(4} Lala Munshiram

What is the purpose of reading the points
that wre noted on the paper which are
dictated by Lala Munshiram ?

{11 It is a habit

(2) To get clarity in writing

(3)  Just for reading sake

(4} The pointa would be fixed in the brain of
Lala Munshiram

Which one of the following transport
moans is not veed on their trips from
village to village ?

i1} Bus

(2} Bullock eart

{3} Auto

(4) Rickshaw

How did become

monotonous ?

the author's

Job

(1) Recording names and addresses

(2} Talking something to the villagers
(3) Eating food
(4}  Through discussions with all

In which month did the suthor return
home ?

{1}
(2)
(3
{4)

January
March
May
December

{25)

B,

87.
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Directions : The following questions (91 to 120)
contain four sentemces which in their present
arrangement lack coherence, ennnection and
development, There iz only one way of renrranging
them to make a coherent paxsage. Choose the carreci
arrangement from the allernatives given and mark
your answer as (1), (2), (3) or (4) in the answer
sfieel.

a1. Suddenly 1 was startled by loud shouts

of "Fire! Fire!”

I was sleeping on the roof of my house
as it was summer.

Luckily there was no loss of life,

After a tough struggle of about two
hours, the firemen were able o bring
the fire under control.

deba
abed
bade
becad

(1)
(2}
(3}
(4}

B2, The old man replied that he might not

eat the fruit of those but others would
eat.

The king asked the old man when he
would get fruits from those plants.

The king was pleased with the old man
and gave him a gold coin

A king went on horse-back to the
countryside and saw an old man digging
the earth and planting mango saplings
in the fiald.

dbac
adeb
dach
abed

(1)
(2)
(3}
(4}

SFfSven 1 (208 [BHod® 91 - 120) 2Ey G
evld meeod  fOAcSE. o i
11!;5.&.“5:.»:5‘ o Trspodt O dEI alidy med
sowoghn md DS J, o) 33000 ¥
a8 (Fhdves® DRSS I Sdadporidn do
Sodyssum eb%. (208 HrOodd (fhsves®
SOGLSD N EW, L Bdmgmandy (1), (2), (3) Tor

(4) o S Sporod” Moodcd.
9. a CWoter ! fosw I° ed  Ad

Ludipost 3o stimbr  adsy
SAD ol

b.  &ADzewdn AT 0

\  modpgdypbd JBodibodd,

e wdEbmd Db Bed wdad,

d. Dok Mobe AY Jowo dompd,

s iR Syroad Doy
DooBoSHDm .

(1) dcba

(2) abcd

(3) badc,

(4 bead

82. & o Hovo FH S8R =0 adde
B3SH) v awdlerds SArgrbbdyE.

b ®dDf » Bolod Hudven Bypd
Syl @) o w Aol
T L

. SH0s>AF o oo So8hon o
worrds PRGN wirrstodi.

d  &swold  Aydaw ﬂ-ﬁa}é}bl &5
oz Prodwd’  F@rld | Sygue
ir:‘n& s o el el
awfardl T,

(1) dbee

{21 mdch

(3) dach

(49 abed
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AS/4D1 (27)
93. a My hobby gives me immense pleasure [83. & = cngy &b o wiod
and T am able to make the best use of ﬁoﬁ’ﬁﬁnﬂﬁﬁ& oy & cwwE
my leisure time, dorie Sdoldwidy DSOS R
b. A hobby is something that a person JobienthSommi.
KSR 100 O0 i s b b Shobiws® ¥ #p8 Jom &
¢. My hobby is planting flower-plants in o 500 3D wosrd,
h en,
my Wm'gu"?m e. =of8 Sadst dre dofh ol ude o

d,  These plants include rose, lily, jasmine, Swy Fes) :
dahlin and sunflower plants, '

T d. erd; 8D, dhyere, dolr Sbak

‘ (B driach & SefHe Des

(2) beda & o

(39 dabe {1} mbed

M) dbca ! 2) beda

(3) dabe
(4) dbcea
94. 4. This job is done mostly by women. 84. 0. & A8t JEpD ol A

b, It is interesting to see tea-leaves being S,
plucked. b. ¥olrdh eofu LEdmd drddo ord

t.  Our best tea-gardens are thore in the 5‘”‘50‘"”' & OdRD.

Kangra Valley, Dehradun and Assam. L et dabh dfFoderS Afch

d Tea is grown in tea-gardens on srood’ W bdy @3 Jubg
hill-slopes. Soe Ao,

(1} abed d  ddgstwo Domw uiees' Hur

(2] beda B Dodedd.

(3) adeb (1) abcd

(2) bedn
1) dcb
W e (3) adeh
(4) deba
95. a. A frog is a small animal that has (99 8 53) SwmpnZods Dbdaly ddntd Iog
bulging eyes and long back legs. ey SDokaiy 28 TRy modad.

b.  The strong hind legs onable Lhe frogs to b Sdnen wodd 3L ey om0 $hode
leap further than the length of its body, AG0 SoB JEnd Srddn  dwoedd

¢ Frogs are classilied as amphibiana. Sl mﬁ’“” SORZow.

d.  Most amphibians spend part of their e Sdjui agabdorer $8580ond,
lives ms m water animal and part as a d, oo efobdoros, o8 D838
land animal. Sod  rdind somoddhm Fod

1} abed Prifawny graocdigymr M.

20 beda (1) abed

(3) bade :g: :cj"

Goc

(4} cabd @) cabd,



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in
AS401 [28)
86. 0. The day was hot B8,

b.  But in the end all reached the homes
salely.

¢ The picnic party reached the lake by
11.00 a.m.

d. All went well till we heard Ashok shout
for his life.

(1) acdb

(2) dbae

{3} cadb

i4) mbed

97. a.  Net much is known about Newton's life
at Cambridge in the early years of |87,
professorship.

b.  He experimented with many technigues
for grinding lenses (using tools he made
himsell) and in about 1670 built the
first reflecting telezcope.

¢ But it is certain that the constructinn of
telescopes and optics were among his
main interests.

d.  The simplicity of his prismatic analysis
of sunlight has always marked this
early work as one of the tlimeieas
classica of experimental science.

(1) acbd

(2) abed

(3) dach

4y baed

a,
b.

{1}
(2)
(3)
4)

(1)
(2)
{3
(4}
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(a]

v 855y Jdr acdba.

T DD02 mofdr hEistumr mond
ﬁd:.‘.mu_&a.

SSF'ES 3 BAnD asobis
11.00 a,m, o5 ﬁﬁl!‘nﬁ)g:u V;

oTE 83 Prededl  sardedn e
wod odid SDibo 5 HH sce
e Sodsa,

acdb
dbac
cadb
abed

LT 2T TS i & wordy BEIST D
Soddyoodt Arphin #0885 Adod
wEp o 8Ok,

ool ddbdbdos od oo
Sfdeks (S Sofrd I SDEbE)
L;Sélrn‘ﬁg.'ii\w !;5.15‘51&.1 Sob oty
1670 &° Juiid ($8DeDod BOIY N
dalrds M,

BOIGSe  bodw gyt Powedd
200w Domomduom w8 dupeded
sDdnlen,

wdd Gl Dp g aega ?»":rdss*uﬁ
ﬂ!ﬁm add
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AS/401 129} [a]
98. a. They arrived at Calcutta — about the [88. a & ooy ol Bo  fgps'
middle of the month of October. _ HSofg SOy, .
b.  They expressed their great and sincere b, Sogrirdi  Jr2edhod  idod
admiration for the devotion and faith of s dderdgsiem BFobo Db,
B SrossTagpen a7 36 Hoass Dorge. . HobdySESD 61 Hhovos’ Sy
c. ﬁf. t:luu mawoflﬂ: }'!u_lll'. ::rohll. all u:_: Borraa's > ossben oK
HINOUE 1n L] enga usy wi A "
T Puja’. _ coge gra s*ﬁ;dﬁm:‘ Goird, ”
d A ecertain number of ladies and 4. Sod &n_ﬁ é’” < Bais ?}f“mm
gentlemen from the United States of w205 wod By Jeegls |; o
America came to India to visit some cfjotebS | _ g Sad Al
imlmrt:nt phm‘ 5%&@&6.
. - 0 eliid {1} abed {(2) cbhad
B e @) wha (8) aebd ) dach,
(3) mchbd 4y dach 9. a Ddlvodie ﬂ:ﬁsﬂ'ﬂrﬁﬁu sl Ey
@drore K80, oo Hre
99. & Knowing the dangers of drug abuse, the l?"-"”'sm & = ubﬁgndﬁ:
governments of many countries have S0g Sogeds Jdgad. ,
taken various steps to deal with the b =& debodn dudrRdrddn - v
problem. Dok Sebealtor BEHOY
b. This is the misuse of drugs — drugs u:&-adi.‘.\n 0oty ﬁdzﬁm ot
obtained illegally and taken for the S BEL.
purpose of getting pleasure and thrills. e & Swost Lile Sdsbodn
t.  Today we hesr a lot about drug abuse. ‘;:33&":”“ Mbod WX S
d. ‘This practice can ruin a person’s life and AR _ _ .
s Tk bl d & oot ns $§ Qe DS
‘ : SAshe dohd Sbok Sdmbnd
(1) abed (2) echda . Ky o0 fiatiod.
@) bdme ) dahbe (1) ahed {(2) ebde
(3) bdac {(4) dabe
100. a. Besides nature, good  human (100. a. (@588 edlom, ol  &rEd
relationship is totally free of cost. Sowogres HpOM pdﬁdﬂﬂ.
b. Friendship, love, loyalty and concern do b Taedo, (D, SSpshe 0o
not cost us money. ergpdien S5 Jerodt ﬁdaas' L M
c.  The love of A mother for her child, which 3.
ensures the continuation of the human e hg:uzﬁ'a us &0 &:lﬁzr L"E:I.‘L‘a 1)
race hag no price. Arbderd Hbondst Mi@dﬁb.
d. It cannot be repaid in cash or kind. d.  &AdD &utrdom s df Gidrdom
(1) abed 2} dbca el DR MEgFia
(1) abed (2) dbea
Ga ek i udbn (3) dach (4) cdba
!
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101.

102.

103.

{1)
{3}

(1)
(3)

&¥
(3)

(30}

No vigitor to India ever misses it.

Among the many places of interest in
India which attract visitors from all
parts of the world, the Taj Mahal stands
first, -

Taj was built by Shah Jahan in living
memary of his wife, Mumtaz Begum.
The tomb of Mumtaz and Shah Jahan
himeell are inside the building.

abed (2) badc

bacd (4} dabe

Most of the sharks are not ferocious.

Sharks live in all the oceans of the
world,

On the other hand, there are a number
of sharks which have killed swimmers.

They are found mostly in subtropical
and tropical waters,

cabd {2) dabe

abhcd (4) bdac

Snails like to sleep during cold and dry
weather.,

They have no inside shell, only a soft
body and a big shell which they use
a house, '

Snails live on mountains, in deserts, in
forests and towns.

The French grow, boil and eat 250 million
of them every year,

abed (2) ebad

deba (4) bedan

101.

102,

103.

a.

(1)
(3

(1)
{3}

(1)
(3)
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[A]
dd Hrdt 30y D Sosddd
&nR) drddoa L.
[@dod D¢ grmrofod grdd Al
S8y Bosybes usfod drdans
oo (Sdrod e Sodrd ausen,
&5 8y dwoerd Hrmw grde g
radth ol QB0 .

G Hi%cd' Auoerd Abal
Sraihn SHrdoaron.

abcd {(2) bade

bacd 4) dabe
ShuZosty windse DEddw

(BroT5en) PJobosERSD =P
RS oy SnFSuerost
oo (PIddw) S0,

oo LEddw (PEdde) Yy H
Simet Sosdhaan.

@ Jdpme ad aiode gs
dadode werd’ acdib,
cabd (2) dabe
abed 1) bdac

SO WOk B sedbminst
MPoHb dder addib.

e Oy sodd =0 DD
B Ar@dy  sodd. uf B8
VA e seor ardSd, ¢

g Sz oD, e Y TS
sdPHod’ Lok Jhorod’ dlob.
Podard  |SBSobdySinst

250 BDo%P o bod, 688oD
a348.

abed
deba

(2) cbhad
1]

{4) beda
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104,

105.

106,

.

(1)

{3

(1
(3}

L.

(
(2}
(3)
i4)

(31

1 take Junch at around 1.00 p.m. 104,
| return in the evening.
1 go to school in the morning ot 9.00 a.m,
My name is Anil
decab (2} abcd
cdba (4} bdac

105.

He explained the procedure of boiling |
the egg and went away.

Thomas Alva Edison was a greal
scientist. He had a cook.

By the time he returned, the scientist
wae boiling the watch and looking at the
EEE.

The cook hed to go out for some time,

ahed (2) cdab

bdac 4] dabe

When | enterod hiq, house, his sister
asked, *Why didn't you attend the party
last night ?".

1 had a lot of work to do and went to the
party after the completion of the work. |
was a little late,

| was late by a day.

One of my frionds invited me 1o his
birthday party.

abed
dbac
acdb
bacd

1046,

a,

{1)
(3)

(1
(3

m
(2)
(3
(4]
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100 pm, (dodind’ T dgrgdm
Frutin Tkl

% drobodin Gon M.)d‘{x

T5 odobdy 900 am. Aobodh
ardrod ﬁﬁ;d:&:.
a dlngy, Ph eld.
dcab (2}
cdba (4}

abed
bdac

gt ad8ed Doviddedy S0l
edin DT DD,

q'm' uere
rserd. wddl
oo,

wdi BOALT, S0, o Thed
Lﬁ:@:&n e ot Tl fu e iie
6d80% 008,

o Sotamd Bod  SdolEw
wokHess aégésub Godsd.

abcd (2) cdab
bdac (4) dabc

od) ood508 dw  [@dFodmd,
©dd FEO DY oB B Jods
o8 7" el wldR3b.

A% Dye tler Jalrdyd & oo
dodin Hbcdy 3 Prd oo Sogd
88 30) aodd. wothded Fodly
wodpin wondd, '

o o8 B'e vodghem 38w,

& pirdodt ofd 85 whE
B8 Shy wdigdobirds.?

ahed

dbag

ncdhb

bacd

335 w8 FDy
¥ Sooad
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lml

104,

109,

a,

b,

()

(1)

(1
{3

(1)
(3)

(32}

Now he s studying in HT, Bombay.

Jaswanth completed his Intermediate
course,

He got good rank m [IT Enlrance
Examination.

He wants to study Engineering
end so he wrote EAMCET/IIT-JEE
examinations,

ahed {2y bmed

dach {4} hdca

Its blood showed common qualitiea with
the blood of the mataria patienta. Thua
it was confirmed.

Ronuld Ross conducted a series of
experiments on the different kinds of
mosquitees in order to find outl the
traces of the parasite.

Physicians and others worked
continuously to find out the causes fo
malaria. ‘

Two years did not yield any results. At
last he found a species.

cbda
dcab

(2) abed

4) barcd

But one day he happencd {o hear a
famous Professor of Mathematics
lecture at the University.

He got intereated M the study of
Mathematies.

Young Galileo wanted to atudy modicine
ond become a doctor,

Bo he took up the study of Mathematics
and Phywics in the University.

(2) cabd
deba

abed

bade (4)

107.

108,

108.

(1}
(3)

(1)
()

(1
(3
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wdi By IIT, aroHst
ey do, :
wigod aobbidctd Soyh Wrg
oo,

SdS 1T P34 S0ES" ol orgos
SON08. .

wdS moedborh Sdmrod _
EAMCET/AIT-JEE 5&5&1 Lﬂ"hﬂ"ﬁ.‘u
abcd (2) bacd

dach f4) bdca

o8 dddtn Hbdoly Ldolr &
Sfin od A oferod Srdovaw.
woSanm eb §)dbdduedol.
Soridydd srdol SAMRLS Bod
R O dsro Shold  Sdidee
S S irolard.

L¥bclr sdorod DBk
b 8ok =S Tty
Rtodddom A0dnod.

Oodo Roddydiven Jerod Hdoror

o8BS, &S nf B odd
Board.

cbda i2) abcd

deah (40 bacd
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ﬂﬂﬂ‘ﬂ‘d:ﬂ& ﬁsﬁa‘gm wdi
ot 28RN,

Aedein sopobitws’ edds DD
LDASA.
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rﬁeﬁaﬁ;nvlﬁx. ’
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wgipabidnh SR,

abed (2) ol

bhnde (4) debn
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110. a. Such people sre colour-blind. 110.
|
b, These people are unable to pick out red
B% a separale colouwr,
¢.  To most of us, a post box ia red,
d.  But there are people who would not
agrea that it is red in colour.
(1" abed
(2} dabc
(3) edab
(4) bade
111.
111. a, A fox saw large bunches of grapes in a
vineyard.
b.  He fumped at them again and again but
it was of no use.
e.  He wanted to cat the grapes.
d.  He returned and said, “The grapes are
anur”
{1l aebd
(2) dbea
(3) bead
(4) cabd
. 113.
112, a.  The shopkeeper told her that if she put
some onion in it she can cateh mice.
b. One day a lady saw a mouse running
ncross her kitchen floor.
c She went to a shop and brought a mouse
trap.
d.  She was much afraid of mice, so she ran
out of her houae,
{I) adbe
(2] bdca
{3) achd
{4y cadhb

a.
b.

<

(1
(2)
3]
(4]

(1)
(2)
{3)
(4)

1)
(2}
i3]
(4)
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s sy IF doiorm Bodd.
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dym EDbhovints,
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abed

dahe

cdakh,

bade.

oeer Righ

uf (rE'es’ b oEdos mod
a8 D8 Jed,

T IE Swdrd JABL 50 b
SpERRS.

88 |orEuh 858055,

5 S80SOy & Do el ‘I8
Sodo . |
achde

dbca

bend

cabd

a0Ag woss* PERY Jendod
SHRTGYD Lrmo ol s Sy,
wd 8% Howdn Fovs o deug
SHNES0 v Srhds.

oD SHeeiedh 30) defus o5
S adnda.

wi Jwfuded oo Jobdduods
wod wod vohiud WOTERD.

adbe

h d ca ~

achd

cadhb
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113,

114,

115.

a.
b.

c.

d.

il
{3)

(1}
(3}

i)
(2)
{3
(4)

{34

Some passengers jumped off the boat.

The boat had twenty workers,
Twa fell into the Aiver,

The boat-man was a good swimmer and
saved them.

dcab
abed

(2) dbca

(4) bead

Ravi found his pen missing one
morning.

He had to prepare some notes and hence
stole the pen from hia father's shirt
pocket.

Ravi's father was searching for his pen.

He felt sorry and guve the pen to his
father.

ehdn (2) abed

dabe (4) becad

Untreated hepatitis causes severc
dumage o the liver and the patient may
go into coma and also die,

Infation of the liver {8 known as
“hepuatitis”™.

Recent research has aimed at
developing & vaccine against hepatitis.

The virus is spread by food and water.

bdac
abcd
cabd
dabe

118,

114.

115,

(1}
(3}

(1}
(3)

(1}
(2)
(3D
(4)
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(]

Fosds  pairdBo  ddddod
wohbhs Sbiad,

535S adBbod dardpayh.
g L86¢ SAdonmrh.

Sddrd How @dmrd  Hbale
o0 s>dads.

deab (2} dbca
abed (4} becad,

vd adobin 83 Sodw Fouddl 5
Lloderds.

od Fh ‘S‘mhm dorrdodatrdy
o858 s"ng $35 dodmd T,
Fooduod Scdud Eoffioods.

g9 dod@ dn Soiw g%
2ol

sl oo debodd dodoy &%
do|88 Hodud 8OA ady.

chda (2 abed,
dabhe (4) brcad

DEdyHaly  TrIFUD s dmidwm
sHotin  dpons DA, &N

S FShyisNye  ©oak
NSRS S,

sHobin dogy oup waTel
ol

WABAND oS efhys Sdddi
wcD JOFEH ofpior DwEHs.

wirdhe wbos Aeded & 365
apbodiie,

bdac.

abed

cabd

dabc
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118,

117.

118,

b.

()
{3}

1)
{3

{1l
(3}

(36]

Robinson Crusoe was a brave sailor,

With the help of & ship, he returned
home after twenty years.

He was alone for twenty years on the
island.

He was shipwrecked and reached an
island; the members of his famly
thought that he was dend.

adch 2y abed

cbad i4) dabe
One day Fred was coming home from
his uncle's house,

Dykes were built to stop the sea-water
ontering the towns or villages in
Holland,

There was nobody around its

surroundings and so Fred thrust his|

hand through the hole and stayed till
morning.

He knew the danger of the hole in the
dvke.

dabe cdab

obed

(2}

bade {4)
Hiuen Twsang was educated in the
ancient Chinese Confucianism.

He wanted te visit Buddhist centers in
India, particularly Nalanda, where he

got answers for his many questions,
from Buddhist monks.

Chinese pilgrims made the perilous trek
to India Lo visit holy places.

There were strong cultural links
between China and India.

abed deab

(2}

achd (4) cabd

1186,

117.

118,

{1)

(3)

(1)
(3}

(1)
(3}
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[a]
OS5l FOgRD T,

ef T8 SF0Ne8 =203 HoddyFawe
doed qodl aanz’:q)a-m.

bﬂi":‘.‘md' sl a.!grﬂ add
éoﬂ_jﬁiwm Ao,
wolih ¥ AuDRffcadd ook

ik o8 Sodidud ISband.
adch {2} abced
cbhad (4) dabe

ed Fer (8 85 oE) Daomold

ool & woss
ab Hi’:ﬁuﬁrﬂlﬁd.

5@5&{:} ds Lmﬁa'muﬁ‘aﬁ
BRI NEy ovdoar uboeDd

Huchst sdihod Shods

o 3836 |Froeod® Jbdr 6 sud
& 85 clof, 8D Sogdus® it
adabiin 65 wlyed ammd.
odibs'D dogiin Glof) |Dirddy
wals Aholuds,

dabe 2y cdab
bade (4) nbed
Srge ol Hordd Suolbo

Sdemrindnd’ Dgks KBS0,

grod didudan g Blerei
[BEgon oo
ddjorroinhand, Jodhshm edd
), oo |Shoh ¢ g
wod warwow DR,

e HdesSN M0E  @DETod
E0j0du% I ofFBhw Rolrind
Erdd sD3d5% éﬂaa-:d.}.

S Bdol prisdreo My pobd
o 8% Sonugrey vodl. .

abed (2 deak ™

cabd

acbhd (4)
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AS/401 | 38 ) (4]
119, a, Honey-bees communicate by way of [119. a. 338K ;‘:‘}Hgimﬂnﬁrﬁ} 2.4 L:;E;S
dancing in a peculiar way and it shows :,ggg‘ Bdmee et BHchH ol
that there is plenty of honey in the _ : p -
e Jpuedins sy Dooh S48 Yrodfed’ oo aa
ensd  Dhrodivk & Xom
b. Honey-beer work hard to store honey for BoahE oo,
vinter.
e b. fesoin FéG dab Dogdand
¢.  Bees march in a line to gather honey. i!;a!ﬁw 508 SOdckn,
d. We should learn from honey-bees how to e 3% DEdoD daies =4
coopernte with one another and work S S [Bodrdiodiy.
hard. d. 250 FEH Drg0odEiddn bok
Eand a9 Sobdinody  Sadn
(1} edba 83ddo fod FdnTsiui.
i2) dabe (1} edba
i3) deba (2) dabe
{4 achbd (3) deba
(4) achd
120. & Eerly astronomers  were  skilled 120, o (3% gR'¥ TEes oM@
observers of the night sky. okt 30800 Skt msm
b,  Once people mistook that the Earth was £0Rcuoal.
the ceatre of the Universe. b & D Jdgin G Togha Fod
¢.  Maoastly, however, the Universe consists i l!"ﬁ"d‘“ e 3533:#
of empty space. uﬁodﬁ:hm‘l&.
d.  They tred to explain what they saw and . unﬂﬁﬁg!* _5' g TSR
put forward their ideas about what the i’-"’ég Lﬂmb 59“"‘%},5-
Unisaria wwes ks, d. & Dighe Rod TE  Srhie
Lbode 08 ﬁaq:;& Aok
(1Y dach sododarDi Lﬁcﬁﬂluﬁ.;r&.‘
(2) adbe (1) dach
(3} dabe 2} adbe
{4) deba (3) dabe
(4} deba
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121.

122,

123,

124.

125,

IfA =11, %. 3, 4) and B = |2, 4, 5|, then
f(A-BIU(B-A =

1) 1, 4,6

2) 12,4, 5|

(3) 12, 4

(4) 13, 4, 0]

Find the geometric mean of § and 125,

{1y 10
2y 16
{3y 20
4y 25

Find the arithmetic mean of the numbers
7.5, 68955

(1 4

(2}

(3

(4}

-1 & o

In a class of 50 students, 30 take
Mathematics, 25 tuke Biology mnd 15 take
both Mathematics and Biology. How many
students tuke neither Mathematice nor
Biology 7

i1y &

In a claes of 40 students, there are
30 students who play tennis  and
20 students who play cricket. Every |
student must play at least one of .the two
games, How many students play both the

gumes 7
(1
(2}
(3]
4]

alﬁﬂﬂ

{37}

121,

1“"

123.

124.

125.

prepp
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(a]

A =112 3 4 X0oky B = (2, 4, 6
wandS, (A =B U (B - A) =

{1y 1L 3, 3

(2) 12,4, 31

3 12, 41

4) 3.4, 9

6 ubady 125 w
sgigietnly ST
(1 10

(2) 16

t3) 20

(4} 26

T b, B 8 8 1, 6
wofindpiotnly Shuffoie
(1} 4

(2] b
3) 8
4 7

Gldy  wvgloboh

]

o8 SEMESD 50 Hos ::cs-ggmcs‘, 30 fod
Heddibuodo, 26 So8 Zdrdednd Lol 15
wed Adddy 0ok ddvTiadwin
R A ) el Sty oY
Admridaiudamd SEED Derpthen Joddh ?

(1) 5

2 10
(3 15

(4) 20

SERBS ) 40 Sood a')o'ggauﬁ‘. 30 Hod
a5 womrey ook 20 fod (828
YBME. (33 Jagd ¢ Todosd® by
LY wiiy ugd Jod Sood :b‘gg‘.)w o
o wmbod addd 7

(1 2

(2)

M 9

(4) 10


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

www.prepp.in

ASIA01 {38)
126. The angles of a triangle are in Arithmetic (126,
Progression and the greatest iz three times

the least. Then find the greatest angle.
1y 30°
(2" ROF
) 800
(4) 1207
127. In a triengle ABC, #B = 00° and the |jg7
longths of two sides AB and AC are
12 units and 5 unils respectively. Find the
length of the hypotenuse (in units).
1y 11
2y 12
3y 14
o (4} 14
128. The raotio of the length to the width of a
rectangular [ield is 4 © 3. If the width of |128.
the ground is 90 meters, then find its
length (in ‘meters). )
(1) 100
(21 120
(31 140
4) 160
129. If we divide ¥ 968 among three people _—

such that the first may receive 4 times as
much as the second and the thind may
receive 3 times as much as the second,
then how much amount (in rupees), will
the second person receive 7

(1 115
(2) 118
13) 120
{41 121

pPrepp
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(]

w¥ | Balatngn  fardy S'oren  wof
S¥obdE’ asvon Rlof WA OXom0l
dardoden. Y Fely Jod 7

{1
(2)
(3}
(4)

30°
60°

90°

120°

AABC e |[Bebzmind’, 2B = 90°, AB
Mbaln AC wd | 3Heo dHe SGdImr
12 ofrddn Wbl 5 obrdes. Sk
oy, EY (obrded’) Jod !

()
(2
(3)
()

n
12
13
14

&lg ddod| s ELEEJJ Glod;  Dd
Soals Jonyo M 4 0 B v HSde
Sdey 90 . wondd, oD G PdD
(LbbES%) Jod ?

(1
(2)
(3}
(4)

100

120

140

164

T 988 o ol Sgheh Al T4l
TodbarnLed mgaém wboly
Farddsral Boddarndol mardoden
doduidy DodDHBR. odd Jodd O3l
Jod Awdo (T o8') ot 7

(1}
(2}
{3)
i4)

115
118
120
121
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130.

131.

132,

133.

134,

A decided to divide T 98,000 between B.
and C such that B would receive ¥ 18,000
more than C. How much amount
rupees} would B :;.nc;iw 7

{1} 40,000.
{2) 58,000
(3) 18,000
(4} 26,000

(in

IfFACB thenANnBa
() A ‘

2y B

@) A\B

(4) B\A

If f and g are two real valued functions
defined on the set of all real numbers by
nj;j-x-ﬁ.gfx}-unq-ﬂ_.xianmal
number, then find (gof) (3).

(1) 25

(2) 16

(&} 9

4 4

Find the value of k so that

x" — 3x° + dx + k is exactly divisible by
x -2

() 4

(2)
(3
(4

The hng‘t.h uf a hall exceeds its breadth
by B meters and ita aros is 163 meters®.
Find the breadth of the hall (in meters).

(1) 25
2y 16
{3)

@3 7

(39])

130.

131.

132.

133.

134.

prepp
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o
?%ﬂMu&Anﬂm&Emamcuﬁmﬁs
DosEOord. C Solf B 8 T 18,000 s
ST, B O Siby Budsn (Srdvobiost)
wod 7

(1) 40,000

(2) 58,000

(3) 1B,000

(4) 26,000
ACBuwondS ANB-=
(1) A

2) B

{(3) A\B

(4] BMA

8l TV Sogpo Slucrabin P [ &bk
B Dol &3D¥ JErlold do @Bddalren.
wal (B0d SEhum ﬁdsﬂnm:ﬁb

%) - x - 2, )= x° ¢ 8, & x 0¥

‘ | RQNE Doy
wowdS (gof) (3) D Slfrdoda
(1 25
(2) 16
(3 9
{4) 4

:3—3:24«4:4-[;935 {:—ﬂ}ﬁm%éw
2o 0AS, k Deudd Sl

(1 4

2] =4
(3] =6
(4) -8

w8 Tew Gl dndd, Bdeny SoB 8 Dok
SIS a0 Hbaly ol Gy Mhdde
153 Do’ Foo Gluky 3denyd (Dsgs)
STty

(1) 25
(2) 16
(3) 9
4) 7
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135,

1386.

137.

1%}

138.

Find the sum of the first 200 notursl

numbers.

10100
20100
30100
30104

(1)
2)
(3)
(4)

lim
x=-sl

v
1) &
2) &
(3 4
4) 3

Find the middle term of the expansion of

(4)

The Gret term of a geometric progression
is 50 and the 4 term is 13560. Determine
the 5% term.

3060

4050

(D
12)
(3)
(4}
R o L o L
(1)
(2}

5050
8050

0
1
2
1

(3}
(4) ab + bc + ca

[40)

135.

138.

137,

138.

138.

prepp
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(4]

Hodst 200 Sdee S Ruas

LB Y

(Iy 10100
(2 20100
(3) 30100
(4} 30104

rogpge

=1
Jl+3-2

lim
K=+]

(1)
(2)
{3}
(4)

L & O

A
[.;.»,%] G, S g

Dedny SRR
fe

4
“CE
lcﬂ
c,

erplbdol DYCHEST MWdd DSEn 50
oboks 4 S S&8Iw 1360, 5 & SSLeh
LB et

(1)
(2}
(3)
(4)

(1) 3060

(2) 4050
(3)

(4)

BOG0
6060
{x.}b - - tlﬂ)’n - " {:(jl b -
1y ¢
1
(2) 2

3 1
(4) ab + bc + ca
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140.

141.

142.

143,

Find the equation of a straight line

passing through (3, 4) and having slope 3.
(1] 3x+y-8=0
(2} 3x-y+9=0
) x-3Jy-9=0

4) 3x-y=-9=0

From a ship mast-head 175 meters high,
the angle of depression of a boat is
observed to be 45° Find the distance of
the boat from the ship (in metera).

{1y 150

(2) 160

(3) 175

(4) 200

Find the mode of the following data :
7.9, 8776,3,721,7897

1y 6
(2)
(3

=1

w- @m

(4)

Find the mode when median 12 125 and
mean 18 128,

(1) 118

2y 121
3 132

4) 1208

(a1)

140,

141.

142,

143.

pPrepp
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(4]

(3, 1) Doduly o8 J%idy Dboke T
3 Ao 56¢ Jp SoS0oind Eofuie

(1) 3x+y-9=0

(2} x-y+9=0

{3] :—35’—9:!!

(4) Bx-y-9=0

26 TE Doghe B OB 175 ey

J&od, ¥ Sd5 Joto Fedu 5% TS
o8 B85 c¥ drddy  (Leds)
Sordod

(1) 150

(2) 160

) 175

4) 200

& (208 deroddn ) wdmoUshes

ofmi
.9.7.763 7217497,

(n 6
2y 7
(3» 8
4) 3

fofghdie 125 Sbofn  Sbgidn 128

sondS, pdrcdiind £5Mbidn

119
121
132
120-8

(1
(21
(3
(4
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145.

1 4 9 -4
If A= und B =
2 & -2 1
BA =
[1 D}
(n
. g -3
4 -1 0
-4
-8 3
1 16
o [
0 =3
[ 1 lﬁ]
{4)
a0
-2 | -1
A= ]_.I.hen AvA =

142]

144.

145,

pPrepp
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[A]
1 4 =4
Rl:[_ a1ﬁﬂﬁﬁﬂl;l-[ j ]
2 B - 1
woudhet BA =
[1 0
(1)
(&3
-1 I'D
(2)
o)
1 16
(3}
(%)
['l 15}
(4)
-3 0

(2}
(3)

)
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146.

147.

148,

148,

150,

If 3x + dy = 8 and x - Gy = 10, then
(x, ¥) =

(1)
(2}
(3

4, 1)
4, - 1)
-4, - 1)

4) (-4, 1)

so¢ 0 = tan O,
then find a relation between x and y by

Ilx= secO + tan 0 and y =

eliminating 9.
(1) xay w1

{(2)
1)

xy = ]
xy = -1
(4) Ead‘yzell

frin O + cos f_ll]2 + (sin B - cos B}E =

it o
@ 1
3 2
4y 3

The radius of & circle is 14 cm. The angle
subtended by an arc of the circle at the
centre is 46° Then fnd the length of the
arc {in centimeters).

{11 8

(2) 10

3 n

4 14

Solve |2x - 3| 5 6.
(1)
(2)
(3
(4)

-8<xec=-2
-15x<4
B<x<B
G<xxB

[43)

146.

147.

148.

148,

150.
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(4]

3x + 4y = 8 Moo x - 6y = 10 wowdd,
{x, y) =

(1y (4, 1}

(2) (4, - 1)

(ay (-4, -1t

(4) (-4, 1)

x=gech + lnn 0 Jodo y = see 0 - tan 0
soud?, 8 & SDodm HE x Hdol y
o afgtio Sovodhni SRty

(1 My =1
2) xy=1
(3) xy=-1

(4} Kﬂ+ya=l

{sin 0 + cos lea + [8in @ - cos 0¥ =

{1} 0
2y 1
(3} 2
(4) 3

L€ Sdde Sy sprdie 14 Hod. &2
Gy wf Sdoddn Joddw 2§ Job
Foln 45° wondd, Hdodidn o
Do (Rothbodd®) bbb

() 8

2 10

@ 1

4 14

B‘Jﬁ:}a_ﬂ-am {Solve) |2x = 3| 5 5.
(4]
(2
(3)
(4)

-BEsxc~2
-l=x<4
Gsx«<8
G<cxsh
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ANDHRA PRADESH PUBLIC SERVICE COMMISSION: HYDERABAD
Total Marks: 150

FINAL ANSWER KEY :: No.of Questions:

GROUP-IV SERVICES (38/2011) :: Paper-2
401 - SECRETARIAL ABILITIES

QONo. ANS3 QNo. ANS ONo. ANS3
1 3 2 2 3 1
7 2 B 3 9 2
18. A 14. 1 5. 2
L9 2 20 21. 4
gk, 2 Do 12 27 AR
Bile. B S B 38 ik
. & 5B S 38. 4
43. 4 4. 1 5. 4
45. 2 50k =3 51. 4
55 L 56. 2 57. 4
6l. 1 62. 1 63: £
67. 2 e6g3. 1 69. 2
T3, 2 4. 1 5. 4
9. 3 80. 1 g1 . G4
Ban. A g6. =2 87. 4
91. 3 92, 1 93,
9. 2 98. 4 L0, 2
103. 2 104. 1 105 3
109 2 110 3 Pl i
1B B 6. 1 1 F: B
121. 1 122. 4 123w 3
127% B 128 2 129. 4
183+ 2 134. 3 185w 2
188, 3 140. & 141. 3
145. 1 lde6. 2 147. 2

150

SERIES:

105

1.6

22.

26

34.

40.

46.

5%

58

Gd.

TS

T6.

512 4

38.

o4 .

100.

106.

il 25

118.

124.

130

13@.

1L

1%

23w

P

35

41.

a7,

58

98

G65.

71.

il

83.

89.

95.

10

1907z

fili8ix

11:9:

125.

1371

18 7s

ANS. QNo
2 6

Pz 12
bz 18.
2 24 .
i, 30
i, 36

b iz.
2 48.
1 54.
3 60.
3 66.
2 T2
4 TE.
1 84 .
ip 90.
1 9&.
8 10525
4 1085
4 114.
4 120
4 126.
1 18%:
1 138%
1 144.
3 150.

O.Nos. 52 & 140 Cancelled.
O.No. 70 Answer choice iz {dorl).
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